5#8 / External View

BMAZ / Components

| (x®&% : TY-34)2008.02.08

No. % / Part name B& / Pcs ME / Material & . ZmAE / Color- Finish

1 filR 2 BWEME ABS (UL9LV-0 EMRD Jgu— ,TIv Y
Side plate Flame-resistant ABS UL94V-0 Gray , Black

2 JOv tIL—L 1 VAR YWN—, TIv s « FLIA L+ & 7)) 78%E
Front frame Extruded aluminium A6063S-T5 Silver , Black - anodized & clear coated

3 V77V —L 1 7 v 3R IYWN=, TIvls « FTLIALL & 2 7RE
Rear frame Extruded aluminium A6063S-T5 Silver , Black < anodized & clear coated

L NFAH R RN 1 7 W 2 A1100P t15 YWR=FWIA b, Toy 8%
Slide panel Aliminium A1100P t1.5 Silver anodized , Black Painted

5 RIEH AN 1 7 W 3H A1100P t15 IYWK=FNIA b, TIy 7R
Screwed panel Aliminium A1100P t15 Silver anodized , Black Painted

6 Hffe A (M M4 x 12) 8 % =SHEsOx— b
Screw(Countersunk M4 - 12) Steel Black trivalent chromate

7 Wt A +ZFREH M3 x 5) IA sk vy x =204 b
Screw(Phillips Trapezoidal head M3 - 5) Steel Nickel plated , Black trivalent chromate

8 JLE / Rubber feef A Amd L / Rubber 77v ¥ / Black

L

280

210

Ak EERED) / Color TypelEnd of product numberd)

2% / Code filf / Side plate JL =L+ /Nx)N / Frame- Panel
GS Ju— / Gray v =/ Silver
BB 77v 7 / Black 77y ¥ / Black

O [l . ® o
LR / Self-adhesive rubber feet
@& /Title
& z S 1
RASHIHFERIR ERay bO-—VRy 72 @ —
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED EN[LOSURE
KR /Approved | ¥R /Checked | #E/Created |E#% /Product number RE/Scalew
AR 3 xI CF21-280 —
R —Y /Page
{EFLE /Date 2024/10/09 1/ 3

AREOEEEIHRKXESHANTFERIEIZRELET, / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




RfR / Internal View

%L@&Mzwwﬁéz

Lgey “wip 12ued PaMS /

35 ; x ;
I m |
F 33

F 1k IL (AR)

Screwed panel (Internal View)

273

35

s N RN

INARAFHINTIL (RER)
Slide panel (Internal View)

Lgnz wip 12ued 3PUS /

| (x®&% : TY-34)2008.02.08

. _ &% /Title N —

RASHIHFERIR ERIy tO-VvERy 72 @ (—

TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED ENELOSURE
% /Approved | RO /Checked | B /Created |H% /Product number Eg/sca“: .
e | G5 KT CF21-280 ——
R —Y /Page
fER B /Date 2024/10/09 2 /3

ANEOEEEIIMNXEHIHTFEMIZEIZRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




218/ )L / Screwed panel

258.2

JINRJLERME / Panel Frontside

LN
—

INAAFH ISRV / Slide panel

258.4

N JLRE / Panel Frontside

1.5

190.8

191

L-®L.7

REY - M

Surface protective film side

REY — Ml
Surface protfective film side

| (x®&% : TY-34)2008.02.08

/XA JLEME / Panel Backside

N JLEM / Panel Backside

HRRHANFERTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

®% /Title
fggtlay rO—-WARy 72
SLOPED ENCLOSURE

KR /Approved
il

RX /Checked
3

#X /Created
iR

7% /Product number
CF21-280

fFaXB /Date 2024710709

O
RE /Scale
1:3.5
R —Y /Page
3/3

AREOEEEIHRKXESHANTFERIEIZRELET, / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	CF21-28 Model (1)
	CF21-28 Model (2)
	CF21-28
	CF21-28
	CF21-28 Model (1)
	CF21-28 Model (2)




